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QUESTION 1

Which of the following statements describe why experience-based test design techniques are useful?

a) They can help derive test cases based on analysis of specification documents. b) They can identify tests not easily
captured by formal techniques. c) They make good use of tester knowledge, intuition and experience. d) They are an
effective alternative to formal test design techniques.

A.aandb

B.bandd

C.candd

D.bandc

Correct Answer: D

QUESTION 2

Given the following flow chart diagram: What is the minimum number of test cases required for 100% statement
coverage and 100% decision coverage, respectively?
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A. Statement Coverage = 1, Decision Coverage = 3.
B. Statement Coverage = 2, Decision Coverage = 3.
C. Statement Coverage = 2, Decision Coverage = 2.
D. Statement Coverage = 3, Decision Coverage = 3

Correct Answer: C

QUESTION 3

Which of the following activities would improve how a tool is deployed within an organisation?
a) Roll out the tool across the organisation as quickly as possible to all users.

b) Conduct periodic lessons learnt reviews with tool users.

¢) Provide technical support to the test team for each type of tool.

d) If a tool is not being used, withdraw it and look for an alternative.

e) Make sure processes are improved to reflect a new tool.
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A.a,bandc
B.a,candd
C.c,dande
D.b,cande

Correct Answer: D

QUESTION 4

Which of the following statements describe why exploratory testing is a useful test design technique?

a) It can help derive test cases based on the internal structure of systems. b) It is useful when there are limited
specification documents available. c) It is useful when there testing is constrained due to time pressures. d) It is a
cheaper alternative to more formal test design techniques.

A.bandc

B.aandc

C.bandd

D.candd

Correct Answer: A

QUESTION 5

If a system has been tested and only a few defects have been found, what can we conclude about the state of the
system?

a) The system may be defect free but the testing done cannot guarantee that this is true.
b) The system is defect free and further testing would therefore be a waste of resources.
¢) It depends what the system is designed to do.

d) Further testing should be considered but this should be focussed on areas of highest risk because it would not be
possible to test everything.

e) Testing should be curtailed because it is yielding no value.
A.a,candd
B.b,candd

C.a,dand e
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D.b,cande

Correct Answer: A
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